Find each player’s optimal strategy and the value of the two-person zero-sum game in Table 31.  

	
	Player 2
	Row Min

	Player 1
	4
	5
	1
	4
	1

	
	2
	1
	6
	3
	1

	
	1
	0
	0
	2
	0

	Column Max
	4
	5
	6
	4
	 


Row 3 is dominated by Rows 1 and 2.  After deletion of Row 3, Column 1 is dominated by Column 4.  The resulting matrix is:--There is no saddle point.

	
	Player 2
	Row Min

	Player 1
	5
	1
	4
	1

	
	1
	6
	3
	1

	Column Max
	5
	6
	4
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This is as far as I got.  I know I can solve it with a linear program solver, but the professor won’t let us use a computer on the test.  I would like to know how to solve it by hand.  Please show me.
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